Korean J. Math. **26** (2018), No. 4, pp. 799-808 https://doi.org/10.11568/kjm.2018.26.4.799

### TRIPLE CENTRALIZERS OF C\*-ALGEBRAS

## Seyed Mohammad Davarpanah, Mohsen Erfanian Omidvar, and Hamid Reza Moradi

ABSTRACT. In this paper, we extend the concept of double centralizer to triple centralizer and we show that, the triple centralizer is a  $C^*$ -algebra. Some algebraic properties are investigated.

### 1. Introduction

An involution on an algebra  $\mathscr{A}$  is a conjugate-linear map  $a \longrightarrow a^*$  on  $\mathscr{A}$ , such that  $a^{**} = a$  and  $(ab)^* = b^*a^*$  for all  $a, b \in \mathscr{A}$ . The pair  $(\mathscr{A}, *)$  is called a \*-algebra. A Banach \*-algebra is a \*-algebra  $\mathscr{A}$  together with a complete submultiplicative norm such that  $||a^*|| = ||a||$   $(a \in \mathscr{A})$ . If, in addition,  $\mathscr{A}$  has a unit such that ||1|| = 1, we call  $\mathscr{A}$  a unital Banach \*-algebra. A  $C^*$ -algebra is a Banach \*-algebra such that  $||a^*a|| = ||a||^2$   $(a \in \mathscr{A})$ .

The notion of double centralizers was introduced by Hochschild [5] and by Johnson [4]. For a  $C^*$ -algebra  $\mathscr{A}$  a linear mapping  $T' : \mathscr{A} \to \mathscr{A}$ is said to be left centralizer on  $\mathscr{A}$  if T'(xy) = T'(x)y, for all  $x, y \in \mathscr{A}$ . Similarly, a linear mapping  $T'' : \mathscr{A} \to \mathscr{A}$  such that T''(xy) = xT''(y)for all  $x, y \in \mathscr{A}$ , is called right centralizer on  $\mathscr{A}$ . A double centralizer on  $\mathscr{A}$  is a pair (T', T''), where T' is a left centralizer, T'' is a right centralizer and xT'(y) = T''(x)y for all  $x, y \in \mathscr{A}$ . For example,  $(T'_c, T''_c)$  is a double centralizer, where  $T'_c(x) = cx$  and  $T''_c(x) =$ 

Key words and phrases: Triple centralizer, Multiplier algebra,  $C^*$ -algebra.

Received August 25, 2018. Revised December 16, 2018. Accepted December 17, 2018.

<sup>2010</sup> Mathematics Subject Classification: 47C15,43A22, 42A45.

<sup>©</sup> The Kangwon-Kyungki Mathematical Society, 2018.

This is an Open Access article distributed under the terms of the Creative commons Attribution Non-Commercial License (http://creativecommons.org/licenses/by -nc/3.0/) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

*xc.* The set of all double centralizers equipped with the multiplication  $(T'_1, T''_1) \cdot (T'_2, T''_2) = (T'_1T'_2, T''_2T''_1)$  is an algebra.

We associate to each  $C^*$ -algebra  $\mathscr{A}$  a certain unital  $C^*$ -algebra  $\mathcal{M}(\mathscr{A})$ which contains  $\mathscr{A}$  as an ideal. This algebra is of great importance in more advanced aspects of the theory, especially in certain approaches to K-theory. In ([7], Chapter 2), the concept of double centralizer is studied. The importance of the study of double centralizers is that it is unital. In this work, we generalized this notion for triplet (T', T'', T'''). Some interesting properties and characterizations are introduced and discussed.

For a comprehensive account on double centralizers and its various applications we refer the reader to [2,3,6,7].

## 2. Main Results

**2.1.** The triple centralizer algebra of a  $C^*$ -algebra. In concluding this section, we state the following definition for their importance in the material of our paper.

DEFINITION 2.1. A triple centralizer for a  $C^*$ -algebra  $\mathscr{A}$  is a triplet (T', T'', T''') of bounded linear maps on  $\mathscr{A}$ , such that for all  $x, y, z \in \mathscr{A}$  (2.1)

$$T'(x, y, z) = T'(x) yz, \ T''(x, y, z) = xT''(y) z, \ T'''(x, y, z) = xyT'''(z)$$
 and

(2.2)

$$xT'(y) z = T''(x) yz, xyT''(z) = xT'''(y) z, xyT'(z) = T'''(x) yz.$$

EXAMPLE 2.1. Let  $\mathscr{A}$  be a  $C^*$ -algebra. If  $c \in \mathscr{A}$  and  $T'_c, T''_c$  and  $T''_c$  are the linear maps on  $\mathscr{A}$  defined by  $T'_c(x) = cx, T''_c(x) = xc$  and  $T'''_c(x) = c^{\frac{1}{2}}xc^{\frac{1}{2}}$ , then  $(T'_c, T''_c, T''_c)$  is a triple centralizer on  $\mathscr{A}$ .

REMARK 2.1. If  $\mathscr{A}$  is a commutative  $C^*$ -algebra, then  $T_c' = T_c'' = T_c'''$ .

The following lemma is a simple consequence of the classical paper related to Johnson (see [4]).

LEMMA 2.1. Let  $x, y, z, w, w' \in \mathscr{A}$ . 1. If zx = zy, then x = y. 2. If zwx = zw'x, then w = w'.

As an application of Lemma 2.1, we offer the following theorem:

THEOREM 2.1. Let  $(T', T'', T''') \in \mathcal{M}(\mathscr{A})$ . Then (a) T', T'' and T''' are continuous maps from  $\mathscr{A}$  to  $\mathscr{A}$ . (b) T'(xyz) = T'(x) yz for all x, y, z in  $\mathscr{A}$ . (c) T''(xyz) = xT''(y) z for all x, y, z in  $\mathscr{A}$ . (d) T'''(xyz) = xyT'''(z) for all x, y, z in  $\mathscr{A}$ .

*Proof.* We prove only the statements made about T'. The statements made about T'' and T''' are proved analogously. Let  $x, y, z, w \in \mathscr{A}$ . Let  $(x_i)_{i \in I}$  be a net in  $\mathscr{A}$ , and let  $\alpha$  and  $\beta$  be complex numbers. Then

$$zT' (\alpha x + y) w = T'' (z) (\alpha x + y) w$$
  
= T'' (z) (\alpha x w + y w)  
= \alpha T'' (z) (xw) + T'' (z) yw  
= \alpha zT' (x) w + zT' (y) w  
= z (\alpha T' (x) + T' (y)) w

and therefore

$$T'(\alpha x + y) = \alpha T'(x) + T'(y).$$

Now, suppose that

$$\lim_{i \to \infty} \|x_i - x\| = \lim_{i \to \infty} \left\| T'(x_i) - y \right\| = 0,$$

then

$$\begin{aligned} \left\| zwT'(x) - zwy \right\| &\leq \left\| zwT'(x) - zwT'(x_i) \right\| + \left\| zwT'(x_i) - zwy \right\| \\ &\leq \left\| T'''(z) \right\| \|wx - wx_i\| + \|zw\| \left\| T'(x_i) - y \right\|. \end{aligned}$$

Since the last term of this inequality tends to zero, we have

$$zwT'\left( x\right) =zwy,$$

for all  $z \in \mathscr{A}$ . Thus y = T'(x) and T' has a closed graph. By the closed graph theorem, T' is continuous.

Let  $x, y, z \in \mathscr{A}$ , then

$$zT'(xy) = T''(z)xy = ((T''z)x)y = zT'(x)y$$

therefore

$$T'(xy) = T'(x)y$$

and the proof is completed.

REMARK 2.2. In the above theorem, we have shown that if  $(T', T'', T''') \in \mathcal{M}(\mathscr{A})$ , then T', T'' and T''' are continuous and linear. Therefore, T' may be given the usual norm

$$\left\|T'\right\| = \sup_{\|x\|=1} \left\|T'(x)\right\|.$$

Similarly the above definition holds for T'' and T'''.

LEMMA 2.2. It is easily checked that for all  $x \in \mathscr{A}$ 

$$||x|| = \sup_{||y||=1} ||xy||.$$

The next result will be used in the proof of the main theorem which follows.

THEOREM 2.2. If (T', T'', T''') is a triple centralizer on a  $C^*$ -algebra  $\mathscr{A}$ , then ||T'|| = ||T''|| = ||T'''||.

Proof. Since

$$||xT'(y)z|| = ||T''(x)yz|| \le ||T''||$$

hence  $||T'(y)|| \le ||T''||$ , on taking the supremum over  $y \in \mathscr{A}$  with ||y|| = 1, we deduce that

$$\left\|T'\right\| \le \left\|T''\right\|.$$

Also

$$||T''(x) yz|| = ||xT'(y) z|| \le ||T'||$$

and therefore  $||T''(x)|| \leq ||T'||$ , taking the supremum over  $x \in \mathscr{A}$  with ||x|| = 1, we obtain

$$\left\|T''\right\| \le \left\|T'\right\|.$$

Thus, ||T'|| = ||T''||. Similar results may be stated for ||T''|| and ||T'''||. However the details are left to the interested reader.

DEFINITION 2.2. If (T', T'', T''') and (S', S'', S''') be in  $\mathcal{M}(\mathscr{A})$ , we define their product to be  $(T', T'', T''') \cdot (S', S'', S''') = (T'S', T''S'', S'''T''')$ . If  $T' : \mathscr{A} \to \mathscr{A}$ , define  $T'^* : \mathscr{A} \to \mathscr{A}$  by setting  $T'^*(x) = (T'(x^*))^*$ . Then  $T'^*$  is linear and the map  $T' \to T'^*$  is an isometric conjugatelinear map form  $\mathcal{B}(\mathscr{A})$  to itself such that  $T'^{**} = T'$  and  $(T'_1T'_2)^* = T'_2T'_1^*$ . If (T', T'', T''') is a triple centralizer on  $\mathscr{A}$ , so is  $(T', T'', T''')^* = (T'''^*, T''^*)$ .

REMARK 2.3. It is easy to see that  $(T', T'', T''') \to (T', T'', T''')^*$  is an involution on  $\mathcal{M}(\mathscr{A})$ .

THEOREM 2.3. If  $\mathscr{A}$  is a  $C^*$ -algebra, then  $\mathcal{M}(\mathscr{A})$  is a  $C^*$ -algebra under the multiplication, involution and norm as defined above.

Proof. Easy computation and simplification yield

$$\begin{split} T_{1}'T_{2}'(xyz) &= T_{1}'\left(T_{2}'(x)\,yz\right) = T_{1}'\left(T_{2}'(x)\right)yz,\\ T_{1}''T_{2}''(xyz) &= T_{1}''\left(\alpha T_{2}''(y)\,z\right) = \alpha T_{1}''\left(T_{2}''(y)\right)z,\\ T_{2}'''T_{1}''''(xyz) &= T_{2}''''\left(xyT_{1}'''(z)\right) = xyT_{2}'''\left(T_{1}'''(z)\right), \end{split}$$

for each  $x, y, z \in \mathscr{A}$ . Also

$$\begin{aligned} xT_{1}'T_{2}'(y) &z = xT_{1}'\left(T_{2}'(y)\right)z = T_{1}''\left(T_{2}''(x)\right)yz, \\ xT_{2}'''T_{1}'''(y) &z = xT_{2}'''\left(T_{1}'''(y)\right)z = xyT_{2}''\left(T_{1}''(z)\right), \end{aligned}$$

since  $(T', T'', T''')^* = (T'''^*, T''^*, T'^*)$ , then

$$T^{'*}(xyz) = \left(T^{'}(xyz)^{*}\right)^{*} = \left(L\left(z^{*}y^{*}x^{*}\right)\right)^{*} = \left(T^{'}(z^{*})y^{*}x^{*}\right)^{*}$$
$$= \alpha\beta\left(T^{'}(\gamma^{*})\right)^{*} = xyT^{'*}(z),$$

$$T^{''*}(xyz) = \left(T^{''}(xyz)^*\right)^* = \left(T^{''}(z^*y^*x^*)\right)^* = \left(z^*T^{''}(y^*)x^*\right)^*$$
$$= x\left(T^{''}(y^*)\right)^* z = xT^{''*}(y)z,$$

$$T^{'''*}(xyz) = \left(T^{'''}(xyz)^*\right)^* = \left(T^{'''}(z^*y^*x^*)\right)^* = \left(z^*y^*T^{'''}(x^*)\right)^*$$
$$= \left(T^{'''}(x^*)\right)^* yz = T^{'''*}(x) yz.$$

To prove that  $\mathcal{M}(\mathscr{A})$  is a \*-algebra we must show that

$$\left\| \left( T', T'', T''' \right) \right\| = \left\| \left( T', T'', T''' \right)^* \right\|.$$

It is easy to see that

$$\begin{aligned} \left\| (T', T'', T''')^* \right\| &= \left\| \left( T'''^*, T''^*, T'^* \right) \right\| = \left\| T'^* \right\| \\ &= \sup \left\{ \left\| T'^* \left( xy \right) \right\| : \ \|x\| = \|y\| = 1 \right\} \\ &= \sup \left\{ \left\| \left( T'(xy)^* \right)^* \right\| : \ \|x\| = \|y\| = 1 \right\} \\ &= \sup \left\{ \left\| \left( T'^* \left( y^* x^* \right) \right)^* \right\| : \ \|x^*\| = \|y^*\| = 1 \right\} \end{aligned}$$

therefore, we can state that

$$\left\| \left( T', T'', T''' \right) \right\| = \left\| \left( T', T'', T''' \right)^* \right\|.$$

Now, we show that  $\mathcal{M}(\mathscr{A})$  is a  $C^*$ -algebra. (2.3)

$$\begin{aligned} \left\| \left( T', T'', T''' \right)^* \left( T', T'', T''' \right) \right\| &= \left\| \left( T'''^*, T''^*, T'' \right) \left( T', T'', T''' \right) \right\| \\ &= \left\| \left( T'''^* T', T''' T'', T''' T'' \right) \right\| \\ &= \left\| T'''^* T' \right\| \\ &\leq \left\| T'''^* \right\| \left\| T' \right\| \\ &= \left\| T' \right\|^2 \\ &= \left\| \left( T', T'', T''' \right) \right\|^2 \end{aligned}$$

therefore, we have

(2.4) 
$$\left\| \left( T', T'', T''' \right)^* \left( T', T'', T''' \right) \right\| \le \left\| \left( T', T'', T''' \right) \right\|^2.$$

On the other hand, for  $x, y, z \in \mathscr{A}$  we have

$$\begin{aligned} \left\| T''(xyz) \right\|^2 &= \left\| \left( T''(xyz) \right)^* T''(xyz) \right\| \\ &= \left\| T''^*(z^*y^*x^*) T''(xyz) \right\| \\ &= \left\| T''^*(z^*y^*x^*) xT''(y) z \right\| \\ &= \left\| T''T''^*(z^*y^*x^*) xyz \right\| \\ &\leq \left\| T''T''^* \right\| \| (xyz) \|^2 \end{aligned}$$

Triple centralizers of  $C^*$ -algebras

since 
$$\left\|T''T''^*\right\| = \left\|T'''^*T'\right\|$$
 and by (2.3)  
(2.5)  $\left\|\left(T', T'', T'''\right)\right\|^2 \le \left\|\left(T', T'', T'''\right)^*\left(T', T'', T'''\right)\right\|.$ 

Now from (2.4) and (2.5) it follows that

$$\left\| \left( T', T'', T''' \right)^* \left( T', T'', T''' \right) \right\| = \left\| \left( T', T'', T''' \right) \right\|^2.$$

This completes the proof.

**2.2.** Application of triple centralizer on semigroups. In this section, we investigate some algebraic properties of the triple centralizers. We begin by two basic definitions.

DEFINITION 2.3. A left (rep. center and right) centralizer on semigroup G is a map  $T : G \to G$  such that  $T(\alpha\beta\gamma) = T(\alpha)\beta\gamma$  (resp.  $T(\alpha\beta\gamma) = \alpha T(\beta)\gamma$  for center and  $T(\alpha\beta\gamma) = \alpha\beta T(\gamma)$  for right) for all  $\alpha, \beta, \gamma \in G$ . A triple centralizer is an ordered triplet  $\{T', T'', T'''\}$  of maps  $G \to G$  such that  $\alpha T'(\beta)\gamma = T''(\alpha)\beta\gamma$ ,  $\alpha\beta T''(\gamma) = \alpha T'''(\beta)\gamma$ and  $\alpha\beta T'(\gamma) = T'''(\alpha)\beta\gamma$ . If T is a left (resp. center and right) centralizer on G then we shall write Txy (resp. xTy and xyT) for T(xy). We denote the set of all left (resp. center and right) centralizers on G by  $\Gamma_L(G)$  (resp.  $\Gamma_C(G)$  and  $\Gamma_R(G)$ ). It is clear that  $\Gamma_L(G)$  (resp.  $\Gamma_C(G)$ and  $\Gamma_R(G)$ ) is a semigroup.

Each element ab of G generates a left (resp. center and right) centralizer on G defined by  $L_{ab}: x \to abx$  (resp.  $C_{ab}: x \to axb$  and  $R_{ab}: x \to xab$ ) for all x in G.

DEFINITION 2.4. Let a, b, c, d be elements of G. ab and cd is called left isoproductive if  $ab \neq cd$  and abx = cdx for all  $x \in G$  (that is if  $L_{ab} = L_{cd}$ ). If G has no pairs of left isoproductive elements we say that G is left faithful. If G is left and center and right faithful we shall say that it is faithful.

REMARK 2.4. We say that G has a left cancellation law if for  $a, b, c, d \in G$ , xab = xcd then ab = cd. The rational extension of a commutative semigroup with cancellation law is the smallest group in which it can be embedded.

We can state the following result as well.

805

THEOREM 2.4. The left regular representation is a homomorphism of G into  $\Gamma_L(G)$ . It is an isomorphism if and only if G is left faithful, and is onto if and only if G has a left identity element. If G is commutative then  $\Gamma_L(G) = \Gamma_C(G) = \Gamma_R(G)$ , and if G is faithful and commutative then  $\Gamma_L(G)$  is commutative. If G is commutative and has a cancellation law then  $\Gamma_L(G)$  is a sub-semigroup of the rational extension of G and, in particular, has a cancellation law.

Proof. Let G be faithful and commutative. Let  $S, T \in \Gamma_L(G)$  and let  $x, y, z, w \in G$ . Then S(Txy) zw = Szx.Txy = Txy.Szx = T(xy.Szw) = T(Sxyzw) = T(Sxy) zw. Since this holds for all zw in G, STxy = TSxy for all  $x, y \in G$ , that is ST = TS. If G has a cancellation law then G is certainly faithful, and if  $\Re$  is the rational extension of G then each element T of  $\Gamma_L(G)$  generates an element T' of  $\Gamma_L(\Re)$  by T' (x, y, z) = (Tx, y, z) for all  $x, y, z \in G$ . This gives an isomorphism of  $\Gamma_L(G)$  into  $\Gamma_L(\Re)$ , and since  $\Re$  has an identity,  $\Gamma_L(\Re)$  is isomorphic with  $\Re$ .  $\Box$ 

REMARK 2.5. The set  $\Gamma(G)$  of triple centralizers may be formed into an associative semigroup by defining multiplication by

$$\left\{S', S'', S''''\right\}\left\{T', T'', T''''\right\} = \left\{S'oT', S''oT'', T'''oS''''\right\}$$

where o denotes composition of functions.

By  $\alpha \to D_{\alpha} = \{L_{\alpha}, C_{\alpha}, R_{\alpha}\}$ , each  $\alpha$  in *G* generates an element  $D_{\alpha}$  of  $\Gamma(G)$ . This map is called the triple representation of *G*. We now show the relationship between  $\Gamma_L$  and  $\Gamma$ .

THEOREM 2.5. Let G be right faithful and let  $\{T', T'', T'''\}$  be a triple centralizer on G. Then T' is a left centralizer. Also if  $\{S_1, T_1, T_2\}$ ,  $\{S_2, T_1, T_2\}$  are triple centralizer then  $S_1 = S_2$ .

*Proof.* For the first part we have zwT'(x)y = zT''(w)xy = T'''(z)wxy = zT''(wx)y = zwT'(xy) for all x, y, z, w in G. For the second,

$$xyS_{1}(z) = xT_{1}(y) z = T_{2}(x) yz = xyS_{2}(z)$$

for all x, y, z in G.

Now, the following result is evident:

COROLLARY 2.1. If G is faithful and commutative then

$$\Gamma_L(G) = \Gamma_C(G) = \Gamma_R(G) = \Gamma(G).$$

806

Finally and from a different view point we may state:

THEOREM 2.6. The triple representation of G is a homomorphism of G into  $\Gamma(G)$ . If G is right faithful and has a right cancellation law, then  $\Gamma(G)$  has a right cancellation law.

*Proof.* Suppose that G is right faithful and has a right cancellation law, and that  $S_1, S_2, T_1, T_2 \in G$  with  $S_1T_1T_2 = S_2T_1T_2$ . Then for all x, y, z in G,

$$\begin{split} S_{1}^{''}\left(x\right).yT'\left(z\right) &= x\left[S_{1}^{'}\left(yT'\left(z\right)\right)\right] = x\left[S_{2}^{'}\left(T^{''}\left(y\right)z\right)\right] \\ &= x\left[S_{2}^{'}\left(yT'\left(z\right)\right)\right] = S_{2}^{''}\left(x\right)yT'\left(z\right). \end{split}$$

So that  $S_1^{"} = S_2^{"}$ . As G is right faithful then by Theorem 2.5  $S_1 = S_2$ .

#### References

- R.C. Busby, Double centralizers and extensions of C\*-algebras, Transactions of the American Mathematical Society (1968): 79–99.
- [2] C. L. Chuang and T. K. Lee, *The double centralizer theorem for semiprime algebras*, Algebras and Representation Theory **17** (4) (2014), 1277–1288.
- [3] M. E. Gordji, M. Ramezani, A. Ebadian, and C. Park, Quadratic double centralizers and quadratic multipliers, Annali dell'universita'di ferrara 57 (1) (2011), 27–38.
- [4] B. E. Johnson, An introduction to the theory of centralizers, Proceedings of the London Mathematical Society 3 (2) (1964), 299–320.
- [5] G. Hochschild, Cohomology and representations of associative algebras, Duke Math. J 14 (4) (1947), 921–948.
- [6] M. S. Moslehian, F. Rahbarnia, and P. K. Sahoo. Approximate double centeralizers are exact double centeralizers, Bol. Soc. Mat. Mexicana 3 (2007), 111–122.
- [7] G. J. Murphy, C\*-algebras and operator theory, Academic Press, Inc. 1990.

## Seyed Mohammad Davarpanah

Department of Mathematics Ferdows Branch Islamic Azad University Ferdows, Iran. *E-mail*: davarpanah@ferdowsiau.ac.ir

## Mohsen Erfanian Omidvar

Department of Mathematics Mashhad Branch Islamic Azad University Mashhad, Iran. *E-mail*: math.erfanian@gmail.com

# Hamid Reza Moradi

Department of Mathematics Mashhad Branch Islamic Azad University Mashhad, Iran. *E-mail*: hrmoradi@mshdiau.ac.ir